
Math 102: Midterm 1 Practice Test 1 Spring 2010

1. Evaluate the integral

∫
earctanx

x2 + 1
dx.

2. Evaluate the integral

∫
sin(ln t) dt.

3. Evaluate the integral

∫
sin10 θ cos3 θ dθ.

4. Evaluate the integral

∫ 2

1

x2 + 4

x3 + 2x
dx.

5. Evaluate the integral

∫
x2

√
1− x2

dx.

6. Determine whether or not the improper integral converges. If it converges,
find its value. ∫ 3

0

1
3
√
x− 1

dx

ANSWERS:

1. earctanx + C

2. 1
2
[t sin(ln t)− t cos(ln t)] + C

3. sin11 θ
11
− sin13 θ

13
+ C

4. 3 ln 2
2

5. arcsinx
2
− x

√
1−x2

2
+ C

6. The integral is convergent to 3 3√4−3
2


